Table 4. Performance in cross-validation

total True SSL interactions = 3685
total Falses = 688433

score Sensitivity 1-Specificity # passing threshold success rate
threshold | (true positive rate) | (false positive rate) | (trues + falses = total) | (% true of total passing threshold)
0 1 1 3685 + 688433 = 692118 0.53
1.00E-05 1 0.999995642 3685 + 688430 = 692115 0.53
0.00021 1 0.999989832 3685 + 688426 = 692111 0.53
0.00024 1 0.999976759 3685 + 688417 = 692102 0.53
0.00026 1 0.999965138 3685 + 688409 = 692094 0.53
0.00027 1 0.99995497 3685 + 688402 = 692087 0.53
0.0011 0.956309362 0.806996469 3524 + 555563 = 559087 0.63
0.00112 0.905563094 0.606542685 3337 + 417564 = 420901 0.79
0.00114 0.829308005 0.222329551 3056 + 153059 = 156115 2
0.00285 0.808955224 0.187926784 2981 + 129375 = 132356 2
0.00291 0.791044776 0.15586702 2915 + 107304 = 110219 3
0.00293 0.773677069 0.124045477 2851 + 85397 = 88248 3
0.00304 0.756852103 0.091147577 2789 + 62749 = 65538 4
0.00391 0.756580733 0.089269399 2788 + 61456 = 64244 4
0.00398 0.753595658 0.087418819 2777 + 60182 = 62959 4
0.00463 0.752238806 0.085716402 2772 + 59010 = 61782 4
0.00477 0.750881954 0.084034321 2767 + 57852 = 60619 5
0.00489 0.749796472 0.082365314 2763 + 56703 = 59466 5
0.009 0.749253731 0.081928089 2761 + 56402 = 59163 5
0.0093 0.748982361 0.081441477 2760 + 56067 = 58827 5
0.02462 0.718860244 0.075869402 2649 + 52231 = 54880 5
0.02485 0.670013569 0.065556125 2469 + 45131 = 47600 5
0.02486 0.650474898 0.064996884 2397 + 44746 = 47143 5
0.02514 0.601356852 0.054477342 2216 + 37504 = 39720 6
0.02598 0.54816825 0.043539458 2020 + 29974 = 31994 6
0.02639 0.524830393 0.037933975 1934 + 26115 = 28049 7
0.02649 0.500949796 0.032244242 1846 + 22198 = 24044 8
0.02653 0.478154681 0.026686693 1762 + 18372 = 20134 9
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